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NO calculator

1. Change 11.2 kilometres into metres.

. . . . . . . . . . . . . metres

2. A loaf weighs 0.82 kg.

Write down this weight in grams.

. . . . . . . . . . . . . grams

3. Change 7 litres into millilitres.

. . . . . . . . . . . . . millilitres

4. The mug of coffee has a volume of 0.59 litres.

Write down this volume in millilitres.

. . . . . . . . . . . . . millilitres

5. Change 12 kilometres into metres.

. . . . . . . . . . . . . metres

6. A nugget of gold found in Kerang weighed 2.7 kg.

Write down this weight in grams.
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. . . . . . . . . . . . . grams

7. Change 9.3 litres into millilitres

. . . . . . . . . . . . . millilitres

8. Change 2 kg into grams.

. . . . . . . . . . . . . grams

Answers 1) 11 200 2) 820 3) 7000 4) 590 5) 12 000 6) 2700 7) 9300 8) 2000
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